VAR T——.
IE ¢ BEFRER (E) Ea) 0 A9 A#REREES

S

100 £2 5 F 52 iy 15 e VY 7 il Bl S50R) 22450 — 47 1
m — A 82 #ll B ol R

H =

22 (C)

= 1]

I SERHERR B R ER R 2 Y -

). BREEEEE)  BURAEEESELRELTE2ER AT
sEESsk A S EARIE -

3. AL 2SE BEAH 0 1005 0 BB BHETEH -

4 FRBIABE—EEE  SEHE (A ®) () (D) MEZE &g
—EREEEE  EREER—BRNESEN 0 B 2B WEREHE
{BREBHIAES o

5. BRIBIES EHEE  LBERNEERE -

6. RABTERNEE - AHEFEER -

7. ST TRISIRA  SETAREGEE | A TEEECS) ) B TREA,
— {8 -

il

[

AR - L]
ZAFIaES (88) 65 - FAETEZENE  BUMREBEREE -

FH1H t4H




HEREH  #ERO)

o

#2338 Yes =40 Hlla=2

19 29 19 29
A% ® 3 © 15 D) T2

- NI KL A R AR AERIEN () PR L = A 2

x—4y+1<0
(A) 12x-3y-320 (B)

x—4y+1<0 x—4y+120 x—4y+120
©) (D)

2x-3y-3<0 2x-3y-32>0 2x-3y-3<0
x+y-9<0 x+y-9<0 x+y-920 x+y-9<0
y
(0]
[l (—)
. DR 7B EMEE - & a =45 0 |a + B |=5V5 - Al|B =2

(A) V5 B) 245 (©) 35 D) 445
E W TRy (’“2*51) e ;l) S 1o 5 Py ) B BLAEIEL 1 - B
Joe5) +(p=1) +f(x=3) +(y=1)’ = 2
(A) 5 (B) 6 (C)8 (D) 10

| RSB (0.4) +(0.4) +(0.4) +--+(0.4)" +--BIRI Ry @ - BT LRI

(02)+(02) +(0.2)" +++++(0.2)" +---(i0fEs b » Al =2

4 8
(A) 5 ()2 © 3 (D)4
BB x* + ) +6x -8y =0  FHUFGHTHE EHE 2
(A) B(1,0) s 7E B (B) JElEIE RS (-3.4)
(C) HLEIF AL Ry 25 (D) BLEIFIELLEy (0,0)

5 \ . . Sf(x) =12

LS (x)=(x-1) 0 B (x) B S (x) e - EU%%z ?
(A)O (B) 1 ©)5 (D) 20
CH0<a,f<m o NHIEBIET - A E Ry A 2
(A) #FHcosa=cosf - Hla=p (B) Fcos(a—pB)=0 > Hla=p
(C)&sina=sinf » Hla=p (D) #FHsin(a—-p)=0 > Hla=p

\
/
i
[\
il



10.

11.

12.

13.

14.

15.

HEREH  #ERO)

- FEUHEEG R R - BOAETE 0 RBR ~ 15RER ~ 2 5RER% 3 - BRI =R

VRHIR] « 30 R IR, 3 BR 5 3 EERRy 1 18 1 BEEK ~ 2 {18 0 BRBRi - F
BB P LIS AL o SRS B RGBS DL 56 B AR Ry ] 2

3 3 2 1
(A) 560 (B) 28 ©) 5 (D) 3
a,b.c REB - BB = o + bx + c WIETATE( )R + JIE: P( b7 4ac ,abe )
TEEERGR 2 AY
(A) 55—
(B) 5 5
(C) =5
(D) SEPUER

() O\/ N

L0 S (x) B —ERBZ R Ef(%j=27 ’ f(_?sj=8 o 5 f(X) BREL6x% + x—1511

R ax+b » Hlla+b=7
(A) 4 (B) 6 (C) 18 (D) 24

REAR L R -2 HEAE(0,-4) » XEEL M » YEIEES 3R 120 31
NEIRGI AR E TERE 2
(A) L B L, }ZZ [ EBE(2,-8) (B) L, B L, fH3ZAEL(4,-6)

2 6
(C) LB L, ﬂ?ﬁﬁﬁlﬁﬁ*ﬁﬁﬁﬁ (D) LB L, ¥ﬁﬂﬁﬁfﬁ7ﬁﬁﬁﬁﬁ
CHIAABCH » £C=90° » DIEBCHER | » HEEYEBD =2 * DC=1 " AC=3 " {lE=)

e 4% £ZBAD =0 » 3Kcos@ = ?

1 A
(A) Jio
1 v
(B) NG
2 3
©) Jio
2
D) 7=
\/g (=) B D )] C
HEr ISR > AHZ/ R 07 (BHBA 1 cos(a+f)=cosacos f-sinasin )
(A) cos100°—sin2011° (B) co0s’100° —sin>100°
(C) cos*2011°—sin*2011° (D) cos100°cos2011°—sin100°sin 2011°
EEM24x Ty =53 " FHfx=0 » x=7 BN A~ B B > HERE: 4B R R 2
24 53
(A) E3 (B) Kl (©)25 (D) 53

i
W
)i

S
N

\
/



HEREH  #ERO)

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

/\4

2% A(-13.-19), B(x,y ) R i b AH B RES o 25 R AB B R w = (5.12) [ 51 H
| 4B |=26 » HI3x—4y="2
(A) 103 (B) —29 (C) 29 (D) 103
z%mﬂ%ﬁﬁﬁm-§}mmmm£gm’%[gﬂX%+qz?

1 5
(A) -1 B) 3 ©) 1 (D) 5
EACHI S S T x il » (8,3 ),(8.1).(2,-2) =325 » FLA s TE A b ] 2

(A) (-1,0) B) (-1.1) (€) (0,-1) (D) (1,-1)

B (x) =21 B () R S (x) Bt B[S (x)da= 2
-2 -1 1 2
(A) 3 (B) 3 © 3 (D) 3
SR (PO B30 153 o TR s ] 2 y
2 A
A3 y=x’ \
5 ‘g y=x+2
(B) P’
©) 1
®
X
& (rY) °
S Z s T 1% O BEE AR5 - 0~ 2~ 7~ TP A H 0 i

V9L - ELR ~ ZAHREE - Ritt-E AT 2 DL 2

(A) 36 (B) 72 (C) 144 (D) 840
BVl =1 ° #Fiz=cos78°+isin78° » HIJz° = ?
(A) —i (B) -1 C)i (D) 1
= > — —_— Y AN a _1 2 & s
axa -~ b ER E“JE—/K$$fﬁax2+x+b>05"]ﬁ$§§/ﬁ\|%{x ?<x<§axﬁ'b§"§(} ’
Hj2a+b= 2
(A) -5 (B) —4 (C)4 (D)5
3 27 36

Klog; ——log, ——+log, —= 2
Klogy 5 —logy o g 10855 =7

5 7 9 11
A) — B) — Q) = D) —
)3 ®) © 5 ® -

=AM BT R a ~ TR T R b ~ EMI BT Ry - FHa ~ o RfEE 0 b RErE
Ha>b>c @ BliwE S iy =M 8 2 AME 2
(A) S (B) 10 () 15 (D) 20

H FH4H





